
Open Room

Nelson Ho

Wang Weimin Zhang Bangxiang

Allen Chao

Closed Room

Lian Ruoyang

Walter Chen Jerry Huang

Shi Haojun

49th Asia Pacific Bridge Federation Championships Open Team PO1 Seg.2

VS

Chinese Taipei China

Board
Open Room Closed Room IMPs

Decl Contr Result NS EW Decl Contr Result NS EW Chinese Taipei China
17 W 2♣x -3 500 S 2NT +1 150 8
18 W 3♠ +1 170 E 3NTx = 550 9
19 N 1NT -1 50 N 2♦ -2 100 2
20 N 1♦ = 70 N 1♦ -1 100 5
21 N 5♥ = 650 N 5♥ = 650
22 N 3♥ +1 170 E 4♠ -2 200 1
23 W 4♥ +2 680 W 4♥ +1 650 1
24 N 6♠ -1 50 N 4♠ +1 450 11
25 E 6♥ = 1430 E 6♥ = 1430
26 E 4NT = 630 E 5♥ -5 500 15
27 W 2♠ = 110 W 2♠ = 110
28 N 5♦ = 600 S 3NT +1 630 1
29 N 5♣ = 600 W 1♠x -2 500 3
30 S 5♦x -1 100 N 4♠ = 420 11
31 W 1NT = 90 W 2NT = 120 1
32 N 5♥x -1 100 S 5♥x -1 100

IMPs 28 40
Total IMP 59 85
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Open Room

Edwin Lau

Mr. Patnarin KITCHAKARN Mr. Kirawat LIMSINSOPON

Wong Loke Leng

Closed Room

Mr. Kridsadayut PLENGSAP

Loo Choon Chou Poon Hua

Mr. Terasak JITNGAMKUSOL

49th Asia Pacific Bridge Federation Championships Open Team PO1 Seg.2

VS

Singapore Thailand

Board
Open Room Closed Room IMPs

Decl Contr Result NS EW Decl Contr Result NS EW Singapore Thailand
17 N 2♥ = 110 N 3♥ -1 50 4
18 W 4♠ -2 100 W 3♠ = 140 6
19 N 1NT -2 100 N 1NT -2 100
20 N 1♦ -1 100 N 1♦ = 70 5
21 N 4♥ = 620 E 4♠x -3 500 3
22 E 4♠x -1 200 S 3♥ +1 170 1
23 W 4♥ +2 680 E 4♥ +2 680
24 N 4♠ +1 450 N 4♠ +1 450
25 E 6♥ = 1430 E 6♥ = 1430
26 E 4NT = 630 W 4NT = 630
27 W 3♠ = 140 W 2♠ = 110 1
28 S 3NT -4 400 N 3NT +1 630 14
29 N 3NT -1 100 N 5♣ = 600 12
30 S 3NT = 400 E 3♥x -2 300 3
31 E 3♠ +1 170 W 1NT = 90 2
32 S 5♥x -1 100 S 5♥x -1 100

IMPs 17 34
Total IMP 39 69
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Open Room

Ben Thompson

Ashley Bach Michael Cornell

Bill Jacobs

Closed Room

GeO Tislevoll

Ian Thomson David Beauchamp

Michael Ware

49th Asia Pacific Bridge Federation Championships Open Team PO1 Seg.2

VS

Australia New Zealand

Board
Open Room Closed Room IMPs

Decl Contr Result NS EW Decl Contr Result NS EW Australia New Zealand
17 N 2NT = 120 N 2♥ = 110
18 N 4♦ -2 200 W 3♠ -1 50 6
19 N 1NT -1 50 N 1NT -2 100 2
20 N 2NT -2 200 N 1♦ = 70 7
21 N 5♥x -1 200 N 4♥ +1 650 13
22 N 3♥ +1 170 E 3♠ -1 100 2
23 W 5♣ +1 620 W 5♣ +1 620
24 N 6♠ -1 50 N 4♠ +1 450 11
25 E 6♥ = 1430 E 6♥ = 1430
26 E 4♠ = 620 E 3NT +1 630
27 W 2♠ +1 140 W 2♠ = 110 1
28 S 3NT +1 630 N 3NT +1 630
29 N 3NT +1 630 N 3NT = 600 1
30 S 3NT -1 50 N 3♠ +1 170 6
31 S 3♣ -2 200 W 2NT = 120 2
32 N 5♥x -1 100 E 5♠x -1 200 7

Adjust(IMP) 1
IMPs 5 54

Total IMP 35 109
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